Section 1 Session 1

A 1 Counr the spats. Write how many

o=
EEEE 0000

3 Write these numbers.

fens  Ones tens  ones

B & Lic]

A

& Draw the number of dots.

5 Write the missing numbers

A E OO0

|
I..
|
|

6 Draw beads to show these numbers

:

tens  ones tens onss tens  ones

[]2] []:] [17]
D 7 Luke hos' 20 marbles. Brow Luke's marbies Ij

8 Mere ore some number cards, Write the numbars in. order |
@ D D D |

] Look ot the beads.

Wirite the number Draw beads 1o show this numbaer ‘

lens = ones tens-  OnEs




section 1 Session 2

1 v’v-.:'.- the anEwers.
10+1= | {

2 Wrlte the missing. numoers

1 less

3 Whrite the missing numbers.

10 less

10+3=|

10 more

5 Write the snswers.

10ad6is | | 10 odd 9 equals | |

10 add 7. D 10 and 10 makes [_]

& Write the missing numbers

10 less

7 Write the answer

Max has 10p. Ella gives Max 7p.

How much money does Max have now? FP] |

B Write the drvwer.

Tamwar has 17 pencils. Jamil has 1 more pencil than Tamwar

How many pencils does Jamil have? D ‘

9 Wrize the answer

Ruby has 30 beads Molly has 10 fewer beads than Ruby,

How many beads does Molly have?




Section 1 SESSion 3 : 5 Write the answers

1 Write the answers N = 0y 10 subtract 1 tqunls 5 take away 3 leaves i ‘

& Join the 3-D shapes to thelr names

= O

Sphere Pyramid Cuboid

| 2 Count up from the smaller number. Write the answers

& 5 @ ©°
; Amber has & sweets. Sam has 5 sweets.

= o-v-[]
How many sweets are there altogether?

7 Write the answer

|
I 3 Join the 2-D shapes to their pames: P L
. - Joel has 7 grapes. He eats 5 gropes

How many grapes are left?

9 Drow these shapes

‘ Square Circle Triangle Rectangle |
.
S—— N
|¢ Write the answers
| 5 add 2is D 1 and b makes D 2 rectangles 3 squares
' \
i 6and 3 is i Y and 6 equals |:] i T I T T T T T T T
== 0 1 2 3 Yy 5 b 7 8 q




Section 1 Session b | s Wi
) =2 = 10+10-] |
& Write the answers
s+[ |-10 (o D -10
D +9-10
2 Write the doubles

o200 000 ) & f C'_I 7 Write the answer
(L LK ] ; [ ]
| - : | k Jamie has 3 cookies. Noah has double that number

j I How many cookies does Noah have?

3 Write the answers B Write the anywer

1+9= I (Grace has 7 peaches. Sunita has double that number

b+ 6= D How many peaches does Sunitd have?

T+3=

% Write how much the ¢oing total
| - o
ot (p) [
| 1p___, and (] p

| "’Zp! and 2p E (

9 Write the answer

Emma has 7 toffees: Leo has 3 toffees

How many toffees is that in total?




section 1 SESSion 5 B Write the answars.

1 Write the answer beel =12

— 2add| |makes 10

How many squares long is the line? } ]

Wrice'the answer

e 1 S—— i » e < . -

Some string s the same length as 8 pencils

How many pencils long is half the string?

Write the answers

3 Write the answers
-1 — [ 5 cats are on the wall 3 cats jump off

as1=[ | wré= [ |

7+3=[ | o+10-[ |

149= s : b cats:sit on the grass. 1 more cat sits on the grass.

How many cats are left on the wall?

6+k=[
i i How many cats are there altogether?

4 Draw the answer

Draw a line that is 4 squares long. Wrlte the answer

R : There are & books on the window sill

K Wit hie tnsners There are b books on the table

| 2 add 2 is equal to |__I 5 take away 3 equals D How many books is that in total?

Y and 1 makes I 4 take away 2 leaves D J I |
" [} 1




section 1 ChECk-up 1 [ 6 Write the missing numbers

@ 1 Count the dots L ) Y and L] makes 10 7 add 3 equals D |

10 minus i I equals 2 | 5 add 5 makes 10 !

7 Write the missing numbers

J 2 Write the numbers n order _ (I 3 D = 5y I:J Y D sk
 HEEEE OO0O00 e s
e ace-[]  s-e-[]

| 3 Write these numbers

10-7-[ ]|

9 Write the names of these 3-D shapes

5 O A
e T R | I Il I ]

— — 10 Write rhe doubles

b Write the missing numbers, |
[ J+s=10 a:[ |10 s+u=[] | o [] ? [] a [] |

—— 11 Write the answer |

§ Write the misting numbers

1 less 1 more 10 less 10 more g DIIID How long is this line? D squares \
o
O—v— O-»0O |

1
a 10

i—
=a
=
6]
el
o
et
_—
=




Section 2 Session 1 N

5 Welte the anzwers

1 Wirlte the totels | = lr._:| E=e= [_ -|

& Tick the jor thoy has more

@?’V'Ilf the answer

Anil has b sweets. Katie has 3 sweets.

How many sweets do Anil and Katle have altogether? I

8 Write the answer
Oliver has B blueberries. He eats 3 blueberries.

How many blueberrles does Oliver have left?

Tiek the jar that (s full. Circle the jor that s empty

|
v ( ) |
b Write the answers @
3+h= I I - =
- u

5+5=[j T
Q




Section 2 Session 2

Tick the lighter one

5 Draw the honds to show the time

7 oelock 9 olelock 3 o'clock

6 Write the answers

2+ |-8 6-[ ]-2 s-[ ]-3

c 7 Tick the |ar that s holding least

04 o

8 Write the answer

)

~

Ella gets to school at 9 o'tlock. She has lunch at 12 o'clock.

How long has she been at school? [:l haurs

q Write the answer,

s Tick the jar with Jass Kai has 10 marbles. He gives 3 marbles to Imogen

How many marbles has Kai now? D




Section 2 Session 3 194

6 Write the answers

| [Ea— ‘- Tadd3equats [ 20nd s equalo[_] |

| 5 subtract 3 leaves | 7 minus b equals l ‘

I c_] 7 Write the answers.
Who is the taller? | I

How much taller? I:I bricks

B Write the onswer.

Tilly has 6 grapes. Jay has 5 grapes,

i . How many grapes do Tilly and Jay have altogether? [ |
& Look at the pletiire |n question 3

Draw @ rabbit between the cat and the dog

9 Look at the pleture in question 3

Draw a hutch between the basket and kennel, Oranialing o show how the rabbit cangét home:

5 Tick the longest Da this for the dog,

Draw another way home for the cat. Do this for the rabbi.




section 2 SESSion I"‘ i 5 Write the missing numbers \

| | | BEEOOC

D00EEE |

6 Tick the car that hos made o guarter turn,

4

’ﬁ;l 7 Writs the answer

Josh has 6 marbles. Maya has 8 marbles. Rose has 10 marbles li
Toby has 2 marbles more than Rose.

How many marbles does Toby have?

J 2 Wrize the answers;

| @ - - ) = 8 ‘Wrize the answer.
: @ 1.@: D i BB ' Mia has 7 grapes. She eats b grapes.
B9 U '

How many grapes are left?

' 3 Tick the teddy that has made holf @ turn.

9 Tick the things thas can turn,




Section 2 Session 5

I| 2+2+2- |

| 2 Write the answers

._?+2=F[__] 3+5=D

6 Write the answers

7 take away b leaves D 8 subtract 6 equals
L minus 2 is equal to [:l 7 subtract 2 equals
6 take away 4 leaves D 9 subtract 6 equals
5 subtract 0 equals D 10 take away 3 ledves

9 minus % equals D Y subtract b leaves

3 Wrire the angwers

7—5=D q-s=j

7 Write the answers
Today's date s 1 January 2016
What date will it be tomorrow?
Today's date 15 13 September 2015

Whiat date will it be tomorrow?

b Write the answers

What month comes after October? I:]

What month comes after May?

8 Write the ansiwer
There are b red grapes and 5 green grapes on the plate.

Hew many grapes are there in total?

S Use the number line to help you, Write the answers,

2+24+2+2= D
54 brbrE D
1u+1n+10+10=|:]

9 Wrize the answer.
There are 8 grapes on the plate. Eddie eats 7 grapes

How many grapes are left?

1=
7




SECtion 2 seSSion 6 [ —e_;me pletures to h_zlp you, Write the answers > _|
1 Write the :w: T y Share 6 tubes between Share 9 cubes berween |
é : 2 plates 3 plates
| m&’ﬂa@@ ﬁ?{gm@'ﬂlsam:'ﬁ
= : = _lim 6 shared by 2 is I:I 9 shared by 3 s D

2 Count olong the number fine: Write the answers

' I [ I [ 1] 2+42+2+25+2+2= | I
002 N & B 10121061820

| L 14 T4 1l ] B4+5+5+5+54+5= D

0 5 1015 20 25 30 35 4o

| 7 Write the answers

Henry has 6 pencils. Megan has b pencils.

Hew many pencils are there altogether? D I

| L g g | 10+10+10+10+10=D

0 10 30 30 4 50 60 _
Now Megan gives away 3 pencils.

3 Share the flowers between the vases, Write the answers How many pencILi are there in total now? D

BB plPgbtete |
TT  Tamans -

6 shared by 2 is D 10 shared by 5 is D |
) & 2 Whar number do you land on? D
¥ . 1
B b Write the answers. Q- WNrite the arswr
1 D i A D Suhanl has 8 flowers She shares them equally into 2 vases.
5 Start at zera, Write the answers How many flowers g into one vase? D
Make 3 jumps of 2 | | Make 3 jumps of 5 D T T T T | ] T | i ;
| (] 1 2 3 u 5 b 7 B s




SECﬁOﬂ 2 Check-up 2 B & Share these. Wit

e 8 5\5%‘@ 'iifﬁ f@m
' [ 8 shared by 255 || 12 shared by 35 [ | \

..]

7 Draw a glraffe between the daphant ard lio ]

IR 2

B Camplete the patlerns

CEEOOL
EMEOOO
(o1 O [ (o] o] [

9 Tick the dog that has made a half turn.

b Write the answers.

8+3=D

5 Write the answers.

2424+2= D
1u+10+1o=[:|




ChECk'up 3 Number 8  Write the answers
|

1 Write the numbers in grder
[13] [16] [15] [14]

9 Write the answars

2 Write the nlmber

10 Count on fram the targer number. Write the answers

mE | oeetd e

tens  ones

11 Complete the patterns

= FAEEODC

1w0+7-[ ] 10+10- |

r EOE00
e el NS
J e mEEOO00

5 Write the answers

12 Write
5 add 6 s q priiniic 3 0% D rite the argwers

|l
e 2+2+2+2+2-D 5+5+5+5+5-D

& Count up from the smaller pumber to find the answers

13 Shere these cokes: Write how many on eazh plate
e-2-[]  a-s-[]

@ @ Yoo U
— ﬁggggﬂ' @QQ =
~ = = \SshnredhgansD

7 Write the answers

s+5=|j th




